Al A

SA =R
mu: J|EMESRN HASHASIER/AE =T
o 5X0|1& gHat (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
SXE2 0 29,258,994 30,256,331 A997,337
= 19,009,847
s 505,517
& 2,052,664
Al 7,690,966
JI=NMESA LHASHAISISXI/AIEI S X LEH 939,529 1,378,228 A438,699
= 74,011
== 76,008
Al 789,510
SXOI= akat 935,529 1,374,228 438,699
= 74,011
& 76,008
Al 785,510
X0 gas st =& XA Z| 12,020 56,020 244,000
201 Ler23d| 10,520 14,520 A4,000
01 At22teltl 2,160 2,160 0
204 & 2,160 2,160 0
OAtR2te|t| 900,000& 900
OA2I=XDIa 2842233 3o+
70,0003 * 10 *23] *90% 1,260
02 2323l 8,360 12,360 24,000
20l & 8,360 12,360 24,000
OMIIBEEEAAE el 2 0|22
666,600 * 122 8,000
OH=e8 WS d&E= 9&*40,000H 360
202 O4H| 1,500 1,500
01 =LHB] 1,500 1,500
201 & 1,500 1,500
O=U0dl 1,500,000& 1,500
SE01€=0 F= XA 4,283 4,283 0
& 1,285
Al 2,998
301 LetBEZ 4,283 4,283 0
= 1,285
Al 2,998
02 MBI BEM>H2(FUAHS, RSHA) 4,283 0 4,283
& 1,285
Al 2,998
S0i & 4,283 0 4,283
== 1,285
Al 2,998
O=sl0Ig=0l HYNAHS FHE K&
1,000,000& 1,000
& 300




SA =R
M JIZNEEN LA (AR EXI/AtelSX1LE)
ciel: =XJE Bl (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
Al 700
Oosstolg=0l sty X 3,283,000& 3,283
= 985
Al 2,298
ARSI =223 XA 151,275 126,792 24,483
301 detBAZ 151,275 126,792 24,483
10 Al =RQRABAS 151,275 126,792 24,483
S0/ & 151,275 126,792 24,483
OABl=2Re SA
8,000& x75% x249 149,400
OAMN=RLE BE= 25,0002 +75H 1,875
MNIISRHE X2 (F2)(HEA) 494,362 494,362 0
301 LetBNZ 494,362 494,362 0
10 Al =RQABAS 494,362 494,362 0
S0 &t 494,362 494,362 0
OMI=ER2 A oIAH| 494,362
o n&H| 45,240,000 45,240
os= 439,204,000 439,204
o Il=Hl 9,918,000& 9,918
ASIEXAIE 2H Z=T(AMSI=S X012 SAHKE HLM 5,400 5,400 0
H g Td)
= 1,080
Al 4,320
307 BIZHOIA 5,400 5,400 0
& 1,080
Al 4,320
10 AlRI=SXAEBHE2IHIEX 5,400 5,400 0
= 1,080
Al 4,320
20 & 5,400 5,400 0
& 1,080
Al 4,320
OAIRIEXIAIE SAX HMEE
5,400,000 5,400
= 1,080
Al 4,320
MNBIEXAE 28Y FE(AEIEXAIE SAHL 2X1% 108,000 80,640 27,360
2)
& 21,600
Al 86,400
307 2IZt0|A 108,000 80,640 27,360
= 21,600
Al 86,400
10 AISISXAEEE2IHIE L 108,000 80,640 27,360




=N

I‘IiH:

II=MEBE LHASHAISISXI/AISI S XL

SEHESGIEREN (2ol 2@
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
= 21,600
Al 86,400
S0 A 108,000 80,640 27,360
== 21,600
Al 86,400
OAIZIZ2XIAE SAX EXE
108,000,000& 108,000
< 21,600
Al 86,400
ASIZ2XAIE 29 FX(ASIZ2XIAIE SAHL AlolE 2,740 2,955 A215
& Jrelg] X))
& 1,370
Al 1,370
307 2120l & 2,740 2,955 N215
== 1,370
Al 1,370
6 2= 2,740 2,955 A215
& 1,370
Al 1,370
=0 A 2,740 2,955 A215
= 1,370
Al 1,370
OAMZIZ2XAIE SALAF AGHESE JH ]
A& 2,740,000& 2,740
& 1,370
Al 1,370
AMZEX HINY =X (AIBIERRIE S XH) 6,910 0 6,910
& 1,382
Al 5,528
201 LEt2AHH| 6,910 0 6,910
& 1,382
Al 5,528
01 AtR2teldl 6,910 0 6,910
o= 1,382
Al 5,528
=0 A 6,910 0 6,910
& 1,382
Al 5,528
OAMZEX0IE 25 K& 6,910,000& 6,910
= 1,382
Al 5,528
Mol &0 29 2,517 2,517 0
201 LBt AY| 2,117 2,117
01 AF22telb] 1,560 1,560




SA =X
Mz J|IZMES I LHASH ARSI ZXI/ALE 2 XL B
ciel: =XJE Bl (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
S0l A 1,560 1,560 0
OMHTS &L HUIAAE 2HH|
80,000 x12& %60
OMl=2ZE X2 XL
300,000& *x23] 600
02 524t 557 557
=20 A 557 557
OMMPS 2 SEAHLDAAE e
Se2 26,4002 x12& 317
OMol2s&D MIIe=2 20,0008 x12& 240
202 04| 400 400
01 2LHAH Y] 400 400
=0l A 400 400
O=U0] 400,000 400
DIZLH9 MEOHH XA 148,022 516,259 AN368,237
= 74,011
== 49,291
Al 24,720
301 LBIEBX = 148,022 516,259 N368,237
= 74,011
== 49,291
Al 24,720
01 Al EZE LW Z2(2DEXTE) 148,022 516,259 A368,237
= 74,011
& 49,291
Al 24,720
=0 A 148,022 516,259 N368,237
= 74,011
& 49,291
Al 24,720
O 2LH9 XKCHAR} AMEHT| |
148,022,000& 148,022
= 74,011
& 49,291
Al 24,720
AE FQAIM AL2=X(SXH ) 4,000 4,000 0
ANEAI AL2=X(SS) (SN2 1,000 1,000 0
203 HR=EH| 1,000 1,000 0
03 AIZE=RIHRF=AH| 1,000 1,000 0
S0 A 1,000 1,000 0
OAHEAIM A2=KX(2E) 1,000,000& 1,000
AZAIRY HAL2=X(2M)(SXHZ 3,000 3,000 0
203 HR=AH| 3,000 3,000
03 AIZH=RIHR2F=AY| 3,000 3,000




R EONE-E

M J|zME

|
9l AT FQAIM A (SXFMDY

ni;
S& WASHAEISXI/ALE
X

(Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
S0 & 3,000 3,000 0
OAIHBAIE HRFE(EAM) 3,000,000& 3,000
=I)IEE 22 & XN (AE=8R/8E) 3,456,755 6,867,794 A3,411,039
& 512,800
Al 2,943,955
SSaR K& 3,456,755 6,867,794 A3,411,039
& 512,800
Al 2,943,955
=It2=0a L XI& 2,547,820 1,822,300 725,520
301 LetEEZ 2,547,820 1,822,300 725,520
03 A2 &= 452 (XIT) 2,547,820 0 2,547,820
204 & 2,547,820 0 2,547,820
O3Ie3X BE2Hu+=
200,000 500 * 12& 1,200,000
O3IIe3X S#EFUH =Y
200,000 *470F = 12& 1,128,000
OSEREBX RF J|EY A28 XA
130,000 * 144 1,820
OEZd0=Y AR AIRZ22
200,000 =20 4,000
OEEY =Y HAX AIYRZZ2
200,000 =204 4,000
ORNRBX BILA =&
100,000 175 = 12& 210,000
HESIH2SI182 29 K 6,667 9,427 A2,760
201 et Y| 6,667 6,427 240
01 AtS2teltl 3,631 3,631 0
=0 A 3,631 3,631 0
OJ1gat 29 ARy 3,631
OUEANEZS JIE2 ZHIAAE S|
110,000 =123 1,320
od=)| AXRZ 25,9002 x 128 311
0 E2Hl ¥ AIRESE #&
2,000,000& 2,000
02 2323l 3,036 2,796 240
S0 &t 3,036 2,796 240
OJlgat 29 3322| 3,036
oJlga 2 MJ| 0|8=2
220,000 =123 2,640
o CIHY AIE 23 33,0002 123 3%
S K& 281,168 253,051 28,117
307 QIZt0| A 276,168 248,051 28,117
10 AlRI=SXAEEE2IHIEX 227,498 207,865 19,633
20 & 227,493 207,865 19,633
OEsHH 28 K& 199,963
oNME=ZE7=3l 18,833
oI24H| 836,083 *12& 10,033
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SA =REMY
M IDIEE A2l L N (ME=X/EBE)
o BSUAX K& (e
oM e, hoH -
S - B S(SH) - NISAY - BAS S s HIDS2
oMot OIERE NREAS HI =2H
3,650,000& 3,650
0 OtSEHE A 4,050,000& 4,050
oMEr=Zelel & JIEA & A3
1,300,000& 1,300
0S8=EE9 Y LIZIAIE o8& S
1,200,0008 1,200
OBtUSSH AL HAH X8
2,320,000& 2,320
Ogd2sALE X 2| K&
1,850,000& 1,850
401 AMIEBIZ U] 5,000 5,000
01 A&l 5,000 5,000
20l & 5,000 5,000
OE=HH AR AIZIHH
5,000,000 5,000
SEHM Xd L E2MY FA(SERSA 25 2 8,000 4,000 4,000
SHI XEAY)
& 1,600
Al 6,400
307 QIZ2t0IA 8,000 4,000 4,000
& 1,600
Al 6,400
01 e 2=l 8,000 4,000 4,000
& 1,600
Al 6,400
204 & 8,000 4,000 4,000
= 1,600
Al 6,400
O=gx3k |5 2=4l A&
1,000,000 & x8H 8,000
= 1,600
Al 6,400
B2 Nd L ESAMY FA(BEH0 ) 172,800 77,400 95,400
& 172,800
301 Let8EZ 172,800 77,400 95,400
& 172,800
2 A EBEE6Z2(FHLAHS, KSLHA) 172,800 0 172,800
& 172,800
20i & 172,800 0 172,800
& 172,800
Oz BE5gre
60,000 2408 = 12& 172,800
& 172,800
SEHA Xd L ESAMYE FA(EHEH0H =) 338,400 169,200 169,200
& 338,400




SA =REMY
M 2VIEE 2el ¥ NF(A=SH/EE)
. BEHAL X (EEREE]
: 5 oy R .
SA - BB - S9I(EN) - MRAL - BYS S s HIDEY
301 et2dS 338,400 169,200 169,200
S 338,400
02 B2 S(FHAANS, XNLHH) 338,400 0 338,400
= 338,400
=0l &F 338,400 0 338,400
= 338,400
OLRE BHHLL
60,0002 x470E 123 338,400
= 338,400
Koll=z2l & JIE A 15,400 9,150 6,250
201 ¢et2d| 6,500 5,000 1,500
03 At 6,500 5,000 1,500
=0l &t 6,500 5,000 1,500
OAMdli=22 & JIg4 dA 2
5,000,000& 5,000
OANdli+=22 & Jlga gad= MA
1,500,000& 1,500
301 et2dS 2,900 1,550 1,350
11 HAIMHIXIE S 2,900 1,550 1,350
=0l &t 2,900 1,550 1,350
OAMdll=59 & D184 SZAEeEH
9 2o 2,000,000& 2,000
OAMdli=32l & D184l A =01 SH
A 2o 200,000 200
OAMdli=52 & D184 At JdZ
700,000& 700
307 212t01H 6,000 2,600 3,400
11 ARISXAIEE X 6,000 2,600 3,400
=0l & 6,000 2,600 3,400
OAMdll=52 & J|84] At E0A 5
Abl € 23 N 20,0002 %300 6,000
=X BE32 M5 22,000 3,813,350 23,791,350
401 AIEHIZL O] 22,000 3,790,000 23,768,000
01 Al&H| 22,000 3,700,000 23,678,000
=0l & 22,000 3,700,000 23,678,000
Ofx Bagdt A5 AFEH o=+
E3H| 22,000,000 22,000
SEANE RAES 16,900 16,716 1,184
201 ¢et2dy| 1,900 1,716 184
01 AHR2kelH] 1,900 1,716 184
=0l &t 1,900 1,716 184
O8ESAE H=J1 S 7l
19,0002 1004 1,900
401 AlEHIZL SO 15,000 14,000 1,000
01 A&l 15,000 14,000 1,000
=0l &t 15,000 14,000 1,000
OBlsAE FE= 15,000,000& 15,000
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SA =X
M ABIOHEE APIKITH SHA (AISI = XI/FH ST R)
chel: =XIE EA LR
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 720,000
g 367,073
& 180,856
Al 1,120,032
=X ga =X 913,086 859,208 53,878
< 21,640
Al 891,446
SeAIEI S X2 29 612,684 584,000 28,684
307 QI2H0| & 612,684 584,000 28,684
05 DIZIREZ 612,684 584,000 28,684
=0 A 612,684 584,000 28,684
OZXZZEAMII=AZ 2 612,684
OEEBBABISXT AL
10,000,000 10,000
0 EXEEAFEX S 29|
30,684,000& 30,684
0 ZXTEAIS =X & CIAHH|
572,000,000& 572,000
NEEXNAIE D18t ZE(ARI=2X182s 2YH) 72,200 72,500 A300
< 14,440
Al 57,760
307 2Iz2tol™ 72,200 72,500 A300
& 14,440
Al 57,760
10 AISISAIAIEHE2IHIEX 72,200 72,500 A300
< 14,440
Al 57,760
S0 A 72,200 72,500 A300
& 14,440
Al 57,760
OAZI2XIE2 s 29 72,200,000 72,200
& 14,440
Al 57,760
KEE2XAIY DIt ZA(A2I2XIE2 5 29) (KA 56,871 50,200 6,671
ESpl)
307 21201 ™ 56,871 50,200 6,671
10 AISISAIAIEEHE2IHIEX 56,871 50,200 6,671
=0 A 56,871 50,200 6,671
OAZI2XE2 s 29 56,871
o AEIEXIE2IE 21| 56,871,000& 56,871
KNEE2XAIY D8t ZA (KA EXSEON &4t 36,000 30,800 5,200
I
& 7,200
Al 28,800




SA =REMY
M ABIOHEE APIKITH SHA (AISI = XI/F ST R)
el =X & 2a (e @2
S - EHY - BR(31) - NSAY - BaS S SR b=
307 2I2t01H 36,000 30,800 5,200
= 7,200
Al 28,800
10 AISISXAEBHE2IHIEX 36,000 30,800 5,200
= 7,200
Al 28,800
20 & 36,000 30,800 5,200
= 7,200
Al 28,800
OXIGAS SEEE M &3t X2
36,000,000 36,000
& 7,200
Al 28,800
NIH=TIAR! Jleh & (RIS ASI S R BT 245! 53,311 48,192 5,119
KI&) (KM=
307 2I2t01A 53,311 48,192 5,119
10 AL SXANEEE2IHIEX 17,546 15,242 2,304
S0 &t 17,546 15,242 2,304
OXGAIZ EEE oM &3 X 17,546
o NIGAISIEEE X E45tXR 23|
6,140,000 6,140
o KIGAISISEE 2N E-5HAIR 22|
11,406,000 11,406
11 AISIZ2XIAIE 2 X 35,765 32,950 2,815
=0 A 35,765 32,950 2,815
OXGAZ SESE M EH3XIR At b
3,765, 0008 3,765
A=A D18 X8 (NSNS BEEON a5t 39,600 2,800 3,800
X&) &gyl
201 LEt23d| 39,600 2,800 36,800
01 At222teltl 39,600 2,800 36,800
S0 &t 39,600 2,800 36,800
O= NSAZEHEAM a2+
20,0003 *25H 63|+ 24,000
OZ=Al NGAMSIE2E HEE2AM 39
=g 4,200
O=ZAl XISARIEE A= 3ol 7,200
OZEAl XNGAR E2F AR 319
=g 4,200
NSGAEI =X 2t 32,420 33,460 21,040
201 et2AH| 2,420 9,460 AT7,040
01 At=222teltl 800 1,840 21,040
=0 A 800 1,840 21,040
O3|YU=XXI& At22t2ltl 800,000 800
02 S32g4| 1,620 7,620 26,000
=0 & 1,620 7,620 6,000




E=NESELINT
Ao A AREXICH SHA (AL EX]/F L HESXI)
=7 B XX chol: ® e
SN - O9(BIH) - NIRAY - BAS (ggj) @%%’Lﬁ% =2t
OSEAIZEIAL SAIR2
45,0003 x3H 128 1,620
301 LBtE M= 10,000 10,000 0
02 MSIBEE LG 2(FILHE, XLHS) 10,000 0 10,000
=0 A 10,000 0 10,000
OEAM(8HI| HHl Met=E X2
50,0002 *100H 23| 10,000
401 AlEHILL20H] 20,000 14,000 6,000
01 Al 20,000 14,000 6,000
=20 A 20,000 14,000 6,000
OAM3IEXg2 JIIsSEZ(ARZAIY S)
20,000,000& 20,000
ZCg 29 10,000 37,256 NPT ,256
307 2120l 10,000 37,256 N27,256
11 AISIEXIAISEEX 10,000 37,256 NPT ,256
=0 A 10,000 37,256 N27,256
OMASE ZECYW3 AIY 10,000
o FET 2AHY| 10,000,000& 10,000
FOIMS SEAF TR 1,474,875 985,571 489,304
= 720,000
rag 367,073
< 159,216
Al 228,586
21Z8=Xl 900,000 415,000 485,000
= 720,000
& 90,000
Al 90,000
301 LEEN= 900,000 415,000 485,000
= 720,000
& 90,000
Al 90,000
01 Al BB (2DEXMH) 900,000 415,000 485,000
= 720,000
== 90,000
Al 90,000
S0l A 900,000 415,000 485,000
= 720,000
& 90,000
Al 90,000
oz1g=x & 900,000,000 900,000
= 720,000
& 90,000
Al 90,000
=0l E B35 1,200 1,000 200




SA =REMY
M ABIOHEEE APIKITH SHA (AISI = XI/FH ST R)
Ciol: FOIME BHAl X2 (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
301 detBAEZ 1,200 1,000 200
02 AIBIBEXSH2(FHLAHS, RLHE) 1,200 0 1,200
S0 &t 1,200 0 1,200
o= S B8 20,0003 x5 123 1,200
OIS LA 32,000 32,000 0
301 detBNZ 32,000 32,000 0
11 HAIRHIXEZ2 32,000 32,000 0
S0j &t 32,000 32,000 0
O= XNSA EEE oM &4t XA
4,000,000&+8H = 32,000
AR SEhAtdI2e] XI& 15,000 15,000 0
= 7,500
Al 7,500
201 et2AH| 9,000 9,000 0
= 4,500
Al 4,500
01 AtS2teltl 9,000 9,000 0
= 4,500
Al 4,500
=0 A 9,000 9,000 0
iy 4,500
Al 4,500
OAtedl 22| Let23H| 6,060,000 6,060
= 3,030
Al 3,030
OEREN=RE 3o
70,0003 *20Z *33 *70% 2,940
ax 1,470
Al 1,470
202 O4H| 1,500 1,500 0
= 750
Al 750
01 =LHOH] 1,500 1,500 0
iy 750
Al 750
=0i & 1,500 1,500 0
= 750
Al 750
OAdl 22l n=x & 0| 500,000 »3H 1,500
= 750
Al 750
301 Let8d=a 4,500 4,500 0
s 2,250
Al 2,250




SA =REMY
M ABIOHEEE APIKITH SHA (AISI = XI/FH ST R)
Ciol: FOIME BHAl X2 (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
01 AISIE&EE LG 2(2DEXTL) 4,500 4,500 0
rag 2,250
Al 2,250
=0 A 4,500 4,500 0
g 2,250
Al 2,250
OAHHIZ2IAIY R 4,500,000& 4,500
g 2,250
Al 2,250
SHS AFE SEMHIA X 78,900 67,200 11,700
g 55,230
Al 23,670
201 LEt2AHH| 38,900 33,600 5,300
g 27,230
Al 11,670
01 AtR2teld| 34,720 29,480 5,240
g 24,304
Al 10,416
S0 A 34,720 29,480 5,240
g 24,304
Al 10,416
Os Atdl2tel 29 4,340,000 8= 34,720
rag 24,304
Al 10,416
2 B232g| 4,180 4,120 60
rag 2,926
Al 1,254
=0 A 4,180 4,120 60
g 2,926
Al 1,254
OHEXIZ0| E40lR= 522,500 8l = 4,180
g 2,926
Al 1,254
301 LEIEN= 40,000 33,600 6,400
g 28,000
Al 12,000
01 AIRIEZEE LS (2DEXH) 40,000 33,600 6,400
g 28,000
Al 12,000
S0 A 40,000 33,600 6,400
g 28,000
Al 12,000
Os Atdl2tel XI& 5,000,000 *x8H = 40,000




SA =REMY
M ABIOHEEE APIKITH SHA (AISI = XI/FH ST R)
Ciol: FOIME BHAl X2 (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
g 28,000
Al 12,000
HASE S (XA 218XH) 8,000 8,000 0
& 4,000
Al 4,000
301 YEBNZ 8,000 8,000 0
= 4,000
Al 4,000
02 MSIEEE LG 2(FLAHES, XSIHE) 8,000 0 8,000
& 4,000
Al 4,000
S0 A 8,000 0 8,000
& 4,000
Al 4,000
OXtag 212X& 8,000,000& 8,000
< 4,000
Al 4,000
FOIME SEAS 2|8 =8 X|&| 5,000 5,000 0
202 04| 5,000 5,000 0
01 2Nyl 5,000 5,000 0
=0 A 5,000 5,000 0
O=U0bl 5,000,000& 5,000
NHTBE ABIALIA SAAIR(ME)(OIAZELE 78,788 104,290 £25,502
)
g 55,152
& 11,818
Al 11,818
307 2120l ™ 78,788 104,290 N25,502
g 55,152
== 11,818
Al 11,818
05 DIZtR(E 2 78,788 104,290 N25,502
g 55,152
& 11,818
Al 11,818
=0l & 78,788 104,290 N25,502
g 55,152
& 11,818
Al 11,818
OJARIEEE MHIA XA
78,788,000& 78,788
g 55,152
o= 11,818




SA =REMY
M ABIOHEEE APIKITH SHA (AISI = XI/FH ST R)
Ciol: FOIME BHAl X2 (cr9l: &g
S B SIS - MEAR - BaS (ggj) @%%gm;ﬁ% e
| | Al 11,818
KAXESE AISIAHIA SEXAFS (AEH (XIS AL A HI 329,487 316,580 12,907
AEXAL)
g 230,641
& 49,423
Al 49,423
307 212t0| ™ 329,487 316,580 12,907
g 230,641
& 49,423
Al 49,423
05 DIZIR(EZ 329,487 316,580 12,907
g 230,641
< 49,423
Al 49,423
S0 A 329,487 316,580 12,907
g 230,641
= 49,423
Al 49,423
OXSAMSIAMEIAEXAIY K&
329,487,000& 329,487
g 230,641
< 49,423
Al 49,423
KAXEE AlSIMHIA EXAIYG (MEH (HE0SHY 22,500 18,501 3,999
Ard)
g 15,750
& 3,375
Al 3,375
307 2120l 22,500 18,501 3,999
g 15,750
< 3,375
Al 3,375
05 OIZIREZS 22,500 18,501 3,999
g 15,750
& 3,375
Al 3,375
=0 A 22,500 18,501 3,999
rag 15,750
& 3,375
Al 3,375
OFENISHEAIE A& 22,500,000& 22,500
g 15,750
< 3,375
Al 3,375




=N

X ZH -
o=

3 OF AFZXICH oA (AFSIESX/FHUAHSIH)
Ciol: FOIME BHAl X2 (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
KNEXEE ASIMHIA EXAIS (XIS ALS HHIAERE 4,000 3,000 1,000
AIE2HH|XIH)
g 2,800
& 600
Al 600
201 LEt2AH| 4,000 3,000 1,000
g 2,800
< 600
Al 600
01 AF222t2lt| 4,000 3,000 1,000
g 2,800
& 600
Al 600
=0 A 4,000 3,000 1,000
g 2,800
& 600
Al 600
OXGAS MBIAETIAIE 298] XI&
4,000,000 4,000
g 2,800
& 600
Al 600
JZ=ME U HASES MEXR (AR /I =MESE 20,568,384 18,362,008 2,206,376
= 18,215,836
< 1,283,000
Al 1,069,548
I =MEE AT 20,568,384 18,362,008 2,206,376
= 18,215,836
& 1,283,000
Al 1,069,548
LRATE IEAIL KR (KHEEAIY AAD[2 225} 6,000 6,000 0
== 1,200
Al 4,800
307 QI2H0| & 6,000 6,000 0
& 1,200
Al 4,800
10 AISIZXANEHAEASIHIEX 6,000 6,000 0
== 1,200
Al 4,800
=20 A 6,000 6,000 0
& 1,200
Al 4,800
OXHEAIY AAID| 2 A2k
6,000,000 6,000




SA =R
Hu: J|IRME U HASE MEXA(ANS=N/IIEZEERE)
el JI=ME2 XA (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
== 1,200
Al 4,800
mE==10 11,141 8,598 2,543
308 AtXISHMSOIN 11,141 8,598 2,543
08 W=EI|ZUHstE X 11,141 8,598 2,543
S0 &t 11,141 8,598 2,543
Ouns3W(II==A) 11,141,000& 11,141
I ZMEBEHSH XAZHI 7,740 6,140 1,600
201 LEt23d| 5,740 4,140 1,600
01 AtS2teltl 5,740 4,140 1,600
S0j &t 5,740 4,140 1,600
O =MHESBEHAOARSE 3o+E
70,0002 * 115 23] 1,540
ORHDAIN Mel sRHIE001=+24)
800,000& *4H 3,200
OAIR22IHIOI=MEEEHE=SH
1,000,000& 1,000
202 O4H| 2,000 2,000
01 =LHO4 L] 2,000 2,000
20i & 2,000 2,000
O=U0odl 2,000,000& 2,000
2esgJUers M= 360,574 192,814 167,760
= 324,516
Al 36,058
307 QIZ2to| ™ 360,574 192,814 167,760
= 324,516
Al 36,058
11 Al SXAMEE xR 360,574 192,814 167,760
= 324,516
Al 36,058
204 & 360,574 192,814 167,760
= 324,516
Al 36,058
OoulIIssE 7,770,000 7,770
= 6,993
Al 7
OFEULY/Xt&2 0I5t 24,553,000 24,553
= 22,098
Al 2,455
OFEULY/ItAf = 219,448,000 219,448
= 197,503
Al 21,945
OFYENEHZ 16,078,000& 16,078
= 14,470




SA =R
Ho: J|EME U HASE MEXA(ASISN/IZME D)
el JI=ME2 XA (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Al 1,608
O&FEUsIWI I=ZSE 10,252,000 10,252
= 9,227
Al 1,025
O3lY M= H EH 31,768,000 31,768
= 28,591
Al 3,177
O3 M=HE2 25,607,000 25,607
= 23,046
Al 2,%1
O3 |I2SET 4,769,000 4,769
= 4,292
Al 477
O3l |I2EsE2 20,329,000& 20,329
= 18,296
Al 2,033
MR Z2(MHEXAIEHE) XIS 2,450 2,200 250
201 82| 2,450 2,200 250
01 AtR2teltl 2,450 0 2,450
20l & 2,450 0 2,450
OX2X2ALHE AAE X =
2,450,000& 2,450
MAH=N 17,223,000 15, 155,000 2,068,000
= 15,500,000
= 1,206,000
Al 517,000
301 Let8dZ 17,223,000 15, 155,000 2,063,000
= 15,500,000
& 1,206,000
Al 517,000
01 AIBIBE X432 (2222 TE) 17,223,000 15,155,000 2,068,000
= 15,500,000
& 1,206,000
Al 517,000
S0 &t 17,223,000 15,155,000 2,068,000
= 15,500,000
= 1,206,000
Al 517,000
OdA=A 17,223,000,000& 17,223,000
= 15,500,000
& 1,206,000
Al 517,000
AA=XICHAR SZ XAt 5,500 4,500 1,000




SA =R
mu: J|EME U HASE MBTR(AEEN /LSRR
Ciel: JIEMBLR N (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
201 LBt AY| 2,500 2,500
01 AF222telb] 1,000 1,000
=0 A 1,000 1,000
OAIR22IH(SE XA 22|28
1,000,000& 1,000
02 2324t 1,500 1,500
S0 A 1,500 1,500
OXteFsXd| 1,000,000& 1,000
OSiEE AMES 20,830 «2CHx 128 500
202 04| 3,000 2,000 1,000
01 2yl 3,000 2,000 1,000
S0 A 3,000 2,000 1,000
O=U0bl 3,000,000& 3,000
MASF0 AUdE8=s XS 167,400 145,200 22,200
301 LEBNZ 167,400 145,200 22,200
03 AR E & A6l 2 (K TH) 167,400 0 167,400
=0 A 167,400 0 167,400
OMASZD HALEE S X
13,950,000 x 12& 167,400
XE2Z2 AL 2,199,910 2,228,860 A28,950
= 1,979,920
& 66,000
Al 153,990
307 2120l 2,199,910 2,228,860 A28,950
= 1,979,920
& 66,000
Al 153,990
11 AISIEXAREX 2,199,910 2,228,860 A28,950
= 1,979,920
== 66,000
Al 153,990
=0l A 2,199,910 2,228,860 A28,950
= 1,979,920
& 66,000
Al 153,990
OXEZ2Z A X 2,199,910,000& 2,199,910
= 1,979,920
& 66,000
Al 153,990
Y2242t 78,128 77,107 1,021
= 78,128
201 B2 AY| 78,128 77,107 1,021
= 78,128
01 AF22t2lt] 78,128 77,107 1,021




SA =R
mu: J|EME U HASE MBTR(AEEN /LSRR
el JI=ME2 XA (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
= 78,128
20 & 78,128 77,107 1,021
= 78,128
OFEEL=2elt| 78,128,000 78,128
= 78,128
KNG HEH 29X 296, 103 300, 153 A4,050
= 207,272
Al 88,831
307 2IZ2t0|A 296, 103 300, 153 24,050
= 207,272
Al 88,831
10 Al =S XA EEE2IHIE X 296,103 300,153 24,050
= 207,272
Al 88,831
S0 &t 296, 103 300,153 24,050
= 207,272
Al 88,831
OXNGX&EdH 249 296, 103,000& 296, 103
= 207,272
Al 88,831
XSG R&dEe 29X (XA 70,438 69,436 1,002
307 QIZ2t0IA 70,438 69,436 1,002
10 Al =S XA EEE2IHIEX 70,438 69,436 1,002
20/ & 70,438 69,436 1,002
@)iFals] 70,438,000& 70,438
(S P PSPNE=10! 140,000 130,000 10,000
= 126,000
& 9,800
Al 4,200
301 LetEEZ 140,000 130,000 10,000
== 126,000
& 9,800
Al 4,200
01 A BE XG2S (2RNEZE) 140,000 130,000 10,000
== 126,000
& 9,800
Al 4,200
204 & 140,000 130,000 10,000
= 126,000
& 9,800
Al 4,200
Ot E M= 140,000, 000& 140,000
== 126,000




SA =R
Hu: J|IRME U HASE MEXA(ANS=N/IIEZEERE)
Ciel: JIEMBLR N (cr9l: &g
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 9,800
Al 4,200
HMSAAH| (XD (DIEHDIE 331,987 196,091 135,896
g 138,444
Al 193,543
ol 2| 298,618 157,811 140,807
g 138,444
Al 160, 174
Ardl2e] EEHH JHE (l2 2022l Al) 109,538 0 109,538
g 87,630
Al 21,908
101 e124H| 61,495 0 61,495
g 49,193
Al 12,302
03 22X (I|H L) 22 X2 61,495 0 61,495
g 49,193
Al 12,302
=20 A 61,495 0 61,495
g 49,193
Al 12,302
O2 220 2&2IAL 2124H] X 61,495
oJlg=s(1/hae) 2,107,610 +9& 18,969
g 15,175
Al 3,794
oJlEzs(16Ee) 2,152,350 & x3& 6,458
g 5,166
Al 1,292
oJlE2Z2(175) 2,170,203 +x3& 6,511
rag 5,209
Al 1,302
oJl2s(182e) 2,189, 130292 19,703
g 15,762
Al 3,941
o g —=tat=J § [SY=4=—)) 242 4702 x9& 2,183
g 1,746
Al 437
oXU2RLEH (165 2) 246,930 *x3& 741
g 593
Al 148
oXZUWZ2REEH(175 ) 248, 7303 x3& 747
rag 597
Al 150
o x4 (182 2) 250,610 x9& 2,256




2N SRSt
M NI AHI(SXIZEZH)(IIEH/IIE)
ool olzi=a| (ol Hm
S - B S9(3H) - NSAY - BES S SR HDS2
ax 1,804
Al 452
0 HXIRBEIILL (1652
129,880 * 15 1,949
s 1,559
Al 390
o0 HXREEIIH (185 S
131,810& * 15 1,978
iy 1,582
Al 396
34 AZREZS 48,043 0 48,043
ax 38,437
Al 9,606
04 SRA(PIIAH2 2N BSHERE2 S 48,043 0 48,043
= 38,437
Al 9,606
=0 A 48,043 0 48,043
s 38,437
Al 9,606
OEHSHEES 38, 166,000 38, 166
= 30,533
Al 7,633
OHIRES 88,378,000 *4. 5% 3,978
= 3,183
Al 795
OIVAHLBEZRLES 3,468
oRUIHUABHEREZ
88,378,000 *3.495% 3,089
iy 2,472
Al 617
oA QYBEERYS
88,378,000 *3.495%+12.27% 379
= 304
Al 75
OLNgEMNEEZRLES
88,378,000 *2.75% 2,431
= 1,945
Al 486
Atedl2tel MEMAH R (S S 22IAN (KEMIZEOH 33,876 0 33,876
101 l24d| 30,810 0 30,810
03 SRA(RIAHeH22UHES 30,810 0 30,810
S04 & 30,810 0 30,810
O =20 &AL 2124 K& 30,810
o WESEXH| 60,0003 x2Z* 123 1,440
o HESIHI(1558) 1,436,450 «2& 2,873




SA =REMY
Nz HYESAHH|(SKIAZ) (DIEHIIEH
Ciol: ol=e i) (219 52!
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% D=2
o "WASIIHI(17&=2) 1,473,540& 1,474
o EESIH|(185 =) 1,484,680& 1,485
0 A24LE(1hE ) 1,213,800& x2H 2,428
o ¥ZxEH(1788) 1,245, 140& 1,246
o ¥Z2xE(1888) 1,254, 560& 1,255
o AHZ A 140,0002x2H x 12& 3,360
o &AL 120,000& x2H = 128 2,880
o MIEHAH|(1h&=2) 606,900 x7& 4,249
o MlECAEH| (165 2) 618,080 x3& 1,855
oMEEAHY| (175 2) 622,570 x2& 1,246
o XM EAY| (185 2) 627,280 x8E 5,019
M ASEE=S 3,066 0 3,066
M Z22(RIH) 221} BEES8H2 = 3,066 0 3,066
S0 A 3,066 0 3,066
OEIAZHEH=2 3,065,350& 3,066
SEAHIZ2IAF e124H] X 101,628 99,948 1,680
rag 50,814
Al 50,814
101 @124H| 87,963 87,416 547
g 43,981
Al 43,982
03 2L (RIHS) 22 X2 87,963 87,416 547
g 43,981
Al 43,982
=0 A 87,963 87,416 547
g 43,981
Al 43,982
OSEtAtdIZelAF 211 XI& 87,963
0 21H|(h5 =) 1,928,370& 1,929
g B4
Al 65
o QlZHl(652) 1,945,830& 11 21,405
g 10,703
Al 10,702
0 QIZHI (132 2) 2,097, 300& x2H x4 & 16,779
g 8,389
Al 8,390
o0 PIZHI (145 2) 2,108,940 x2H «8& 33,744
g 16,872
Al 16,872
oxXU2ARE (5=
21,7903 x10A| 2t 218
g 109
Al 109




SA =REMY
M HH2HHU(SXZ ) (OIEHIIE)
ciel: olte ) crel &
S - B S9(3H) - NSAY - BES S S =2
o XM2R+L(65E)
22,0903 *10A1 2+ 11& 2,430
ax 1,215
Al 1,215
o ZW2RLE (135 E)
24,1503 *2B *10A| 2++43 1,932
s %66
Al %66
o ZWZRLE(145E)
24,2603 *2H «10A 2H+8E 3,882
iy 1,941
Al 1,941
o HAIREHIIH (652
117,810 x 15 1,768
sy 884
Al 884
0 AXIRSEIZ(13ES)
128, 7603 25 1,288
= 644
Al 644
0 AXIRSEIZ(145S)
129,380 x2H 10 2,588
= 1,294
Al 1,294
34 AZRYZ2ES 13,665 12,532 1,133
sy 6,833
Al 6,832
SR (PIHY) 22X BEE€2RE=2 S 13,665 3,007 10,658
= 6,833
Al 6,832
S0 &t 13,665 3,007 10,658
= 6,833
Al 6,832
OH=8Y= 117,784,130 *4. 5% 5,301
s 2,650
Al 2,651
OEH=SHEES 583,000 583
= 292
Al 291
O=0AHLEBEHERLZ 4,623
o=R0IHABHEREYZ
117,784, 1303 +3.495% 4,117
= 2,059
Al 2,058
oI QYBHZREYZ
117,784, 1303 *3. 495%*12.27% 506
= 253




SA =REMY
M NI AHI(SXIZEZH)(IIEH/IIE)
o©el: el 2HH| (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
Al 253
OLNgEMNEEZRLES 3,158
0 EBEERYZ 117,784,130 %1.65% 1,94
= 972
Al 972
oAMEEEREZ2 117,784, 130& *1.03% 1,214
= 607
Al 607
SEHAIZ2IAF Q1 AH] I (KEMIZ=DH) 53,576 49,949 3,627
101 el24d| 44,895 49,949 A5,054
03 SR (RIHS) 22 X2+ 44,895 49,949 Ab5,0654
S04 & 44,895 49,949 A5,054
OSEAtellZel AL e124d] K& 44,895
o JIEY 40,0003 x2H +12& 9%60
oWEE2AH| 60,0003 «3% 123 2,160
o HEFIHI(5EE) 1,349,020& 1,350
o HEEIIHI(62E) 1,359,530& 1,360
o YHESIIHI(1388) 1,450,380& 2 2,901
o HEEIIHI(148E) 1,457,360 *2Z 2,915
o Xeg&¥esY 120,0002 x3H x 12& 4,320
0322 (558) 562,000& 563
od2+g(658) 679,760 680
0BT (135E) 1,208, 6501423 2,418
o H2aY(1458) 1,214,4703 2% 2,429
o ZMZ A 140,000 *3¥ 12 5,040
o M@l (6e =) 1,132,940 «5& 5,665
o MECtaH| (138 8) 1,208,650 x2H 2,418
o ME | (145 2)
1,214,47034+2H x4 3 9,716
4 HA=REY3S 8,681 8,681
04 SRA(PIIAH2 2N BSHERE2 S 8,681 8,681
S0i & 8,681 8,681
OISESF={GES S 8,680,650 8,681
Jl2&l 33,369 38,280 24,911
J|=2Z| 33,369 38,280 A4,911
201 Ler23d| 22,984 30,360 ANT,376
01 AtR22telt| 22,624 30,000 AT,376
20 & 22,624 60,000 AN37,376
O=&Hl 10,000,000& 10,000
ORAM2G AtR2t2|H| 20,000,000 20,000
SH=SO0IM 22,624 30,000 ANT,376
02 323l 360 360 0
20l & 360 360 0
ORN2E 5324l 30,000& x12& 360




SA =REMY
M. HYESAAH|(SXIHZH) (JIEHDIIE
2: J|234| (&9 &
s . bou 11 & 0 AbH _
S - BB O9(3) - NEAIY - BAS (g%%‘) "5(3@% HD=E2
202 04| 3,000 3,000
01 2LHAH Y] 3,000 3,000
=0 A 3,000 3,000
O2AE2Y 20| 3,000,000 3,000
203 P2=&IH| 4,980 4,920 60
M4 EASHAL2FKRH| 4,980 4,920 60
=0 A 4,980 4,920 60
O2AE2Y H2F=&IH| 415,000 % 12& 4,980
405 KHAR EH| 2,405 0 2,405
01 XA ESEF S| 2,405 0 2,405
=0 A 2,405 0 2,405
OAFRA oI X} 2 185,000 = 134 2,405
MEES(EXEHMD) (A 2X/FSHEXH) 1,574,378 1,607,431 A33,053
LHEHH K= 1,574,378 1,607,431 A33,053
SEgIISEYIHAEE=Z 22 1,574,378 1,607,431 A33,053
701 JIEISIHSEES= 1,574,378 1,607,431 A33,053
01 JIEIS|HEEZ2 1,574,378 1,607,431 A33,053
20| A 1,574,378 1,607,431 A33,053

O2dzsHII=SE=H 83

1,574,378,000& 1,574,378




